CIvL 1101

Topographic Survey - 15t cell

Construction of Contours - top edge

66 67.1

64.8 71, 4'8}/66”7
50 1 3
y=ax+b
a= s/gpe = % =0.046
66.8 50t 69.1 b =intercept = 64.8

66 = 0.046x + 64.8

Assignment #3 - Solution 1/3

Topographic Survey - 1st cell

Construction of Contours - left edge

648 66 671 66 668
64,8}/'/\
50 ft 3
66 y=ax+b
a = slope = % =0.04
66.8 50t 691 p=intercept = 64.8

66 =0.04x +64.8 x =30

Topographic Survey - 151 cell

Construction of Contours - bottom edge

64.8 66 67.1 68 691
66.8’/”"
50 ft 3
” y=ax+b
a = slope = % =0.046
66.8 on 68 691 p—intercept =66.8

68 = 0.046x + 66.8

Topographic Survey - 15t cell

Construction of Contours - right edge

64.8 66 671 68 691
67.1’/""
50 ft 3
r y=ax+b
66 68
a = slope = % =0.04
66.8 sofrr 68 691 b =intercept = 67.1

68 =0.04x+67.1

Topographic Survey - 15t cell

Construction of Contours - right edge
66

64.8 67.1
50 f+ Z -
7 ¢
66[7 68
7
’
66.8 50ft 68 69.1

Topographic Survey - 2" cell

Construction of Contours - top edge

671 68 693 68 69.3
67.1
—T11.
68
é y=ax+b
50 ft
a= s/apg = % =0.044
69.1 50 ft 709 b= inTCPCCPT =67.1

68 = 0.044x +67.1




CIvL 1101

Topographic Survey - 2M cell

Construction of Contours - right edge

67.1 68 69.3 70 709
69.3}/’7
68 70 "
¢ @ y=ax+b
50 ft
a= 5/gpe = % =0.032
69.1 soft 709 p=intercept = 69.3

70 = 0.032x +69.3

Assignment #3 - Solution 2/3

Topographic Survey - 2 cell

Construction of Contours - bottom edge

71 68 693 70 709
69,1}/'/\
68 70 2
P [ y=ax+b
50 ft
a= 5/gpe = % =0.036
69.1 o 70 709 p=intercept = 69.1

70=0.036x +69.1 x =25

Topographic Survey

Construction of Contours
66 67.1 68

64.8 69.3
50 ft G 2 % 70
2 (4 2
667

/]

66.8 s0ft 68 69.1 st 70 709
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